
Vocab Misc Questions Overview
Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Vocab Misc Questions.

Question
In the following sentences, four words are given in bold. They may or may not be in the correct position in that sentence.

You have to find out the correct order of the four words in the sentence so that the sentence becomes meaningful and

grammatically correct. If the order is already correct then mark the option that indicates 'No error'. Nonetheless, obvious

(A), ill-informed and obtuse (B) leaders from more distant lands often needed (C) to have the naive (D) explained to them.

Difficulty : Moderate Average Time : 47 Seconds

Options :
1. C-D

2. B-C

3. A-D

4. B-D

5. No error

Solution
The correct answer is option 3 i.e. A-D.

The query is about finding words that are contextually incorrect in the given sentence and rearranging them to form a

meaningful sentence.

Here in this sentence, it’s about 'naive', which means 'without enough experience of life and too ready to believe or trust

other people' ill-informed leaders who are from distant lands need obvious things explained to them.

So the word 'naive' fits correctly at (A). So, we need to interchange the words at (A) and (D) to make the sentence

contextually correct.

The correct sentence is: Nonetheless, naive, ill-informed and obtuse leaders from more distant lands often needed
to have the obvious explained to them.
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Hence, the correct answer is A-D.
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